ABMRIN 25 - H2S(HOIFM) 020, @25, @32, 340

 DFaU|E 7|2
& BHE Cixjol

® AHAZ EQXR

IR EY
 Of0fR / 274

(ORI ES E81{A ® a2+
YCSAIE|R | 25 WZCE 20 : A2IH LA 20mm Y 2AH4E ROIE
@Y|E, 2R 7= 25: 22IH LHZ 25mm | A ROl

32 AEIH LHE 32mm

@ XxIg+ 40 : AT LHZ 40mm
2715 7128 HIZOX Hi}
b 2us mes @ M2ie| X AE23 vE=Z el
FA : 2C= Z3X[S @20 : 25, 50, 75, 100, 125, 150, 175, 200, 250 JiHEE EEE
FB : s|== Z2Hx|3 300, 350, 400, 450, 500
CA : 1At Sgj|H|A @25 : 25,50, 75, 100, 125, 150, 175, 200, 250 LEAQIX|
CB : 24t SafiH|A 300, 350, 400, 450, 500 C75K : QEARIR| H12}
TA: 2= EfLA @32 : 25,50, 75, 100, 125, 150, 175, 200, 250

TB : 5l== ELI 300, 350, 400, 450, 500

CD : S2iH|A UHH

BC : SHEY(HARE)

BF : SHES(HATE ZAUXY)
BT : SHEH(HAZE EgiL|

@40 :

25, 50, 75, 100, 125, 150, 175, 200, 250
300, 350, 400, 450, 500

® ol FM

2715 : HTM

© REAYX| F7|s
2|5 : 27HEEt
S : 171 2=t
N @ N7 522

SA 1 Mjo| ofloi =4
A O0IRN=EE)

* QEAQX| EH + BAX|XZT EH

=t 55 Holxief AL 2F = ALY

D-C75K PSS ES] DC5~AC230V | M QEARX| YCSH@)-LB S ZEY XIXIGT
D-C75X IR DC24V 42{(NPN,PNP) YCS—(@)-FA e = NN =]
D-SB—-20 @20 AQIZ| = YCSH@)-CA 140 Z2fH|A
D-SB-25 @25 AR|R| HHE YCSH@)-CB 24k S2H|A
D-SB-32 @32 AQR| = YCSH@)-TC ELA F7
D-SB-40 @40 ARX| HHE CSH@)-Y 24 HEZR0IE

% QEAQIX| I2UE 1 D-C75K : 1M, D-C75K-L3 1 3V, D-C75K-L5 :5M YCsHoH 1 H2ELE

62 YPC



AtSaIA] E5 HzS

ALZA| 37| L EEL A
Z|MAE Y 0.05Mpal0.5 kgf/cm?)
Z|oArE Y 1.0Mpa(10 kgf/cm?)
BELHE 1.5Mpa(15 kgf/cm?)

L 2, 0017, MojoflofF M

REAILHE BEXME

2| W ABRA 2 5~ 60°C (41~ 140°F)

=5 7 222 (224 IS0 VG324)
* FEXXFHY U HAE
Haz pr ey MEHALOF
3 _ - _ EETTEN
FIEX|X A FEHE ZEMEHE SYHIAST | 1AM HEXRCIE | 24 LEXRCIE xx[2 HZRR
7129 0 0 - 0 0 0 0
SHigt ZEY 0 0 - 0 0 0 0
2= ZAX[Y 0 0 - 0 0 0 0
sl== 22X 0 0 - 0 0 0 0
Z2|H|A X - 0 - 0 0 0 0
14 SH|AS - 0 - 0 0] 0 0
24 Z2f|H|AE - 0 0 0 0 0 0
Fl== EgfL|os 0 0 - 0 0 0 0
ZEX EFLAY 0 0 - 0 0 0 0
HAHE 0 0 - 0 0 0 0
& QEAQR| AP
HMS ALk ARIX| EH HiM(EE) H51et 2l=MZo| BHEF|H B HSH5}
320 D-SB—20
o
825 D-C75K MR DC5V~AC230V 7 !3“_'31,\/1“" D-88-25 2i30
@32 D-C75X—N)(P) RN L=ESES) (F=™:DC24V) L5 - BM D-SB—32 A2
@40 D-SB—40

www.ypc.co.kr 63



YCS

* A OlojR A

*BC: HAZE 7|28 *BF: HAZE Z2X|& *BT: HAFHE EfL|NS

A
o AT HER HlL

YCSHZE 4 @20, @25, @32, 340
YCS 20 —13 mm
YCS 25 - 13 mm
YCS 32 - 13 mm
YCS 40 —16 mm
*AR: ZEZ OfojRM * AH: SIES oflojRM * SA: Mo oflojRM
* ofojF8 Al
ASHA E= =
H2E JFEWE @20, @25, @32, @40
Z| A 0.1Mpa(10 kgf/cm?)
EMAE Y 0.05Mpa( 0.5 kgf/cm?)
Hi2t &2 LIAIRIZ it
7 M ofloi=d
5 7 PR (SFAI1S0 VG32#)
» SE7N40|
YCS 20—-00A 11.0 mm
YCS 25-00A 11.0 mm
YCS 32—00A 11.0 mm
YCS 40-00A 12.0 mm

% QEASIR| HADKS

64 YPC




2iC| LR E

?e OXCICIONOIOCIPDIRIEIDIOICLS

<M

*

i
&l
0
r

KH
H

2—C)

2-B)

19

ro | Ao
H|LH
™ SENRE
m o o
ERED
ESE-

- & | O . -
KW o || S| H RN _% NO | o | I
_|T| 0|05 a|d W dalT
= | OF a 2| | oF

wd
_ =
| 50 ul |l <
S O (N - R I s i 1 T R
EHHEEEHEBEE
| T Ys g T w3

m | <12 MR

EREa olr _ﬂ
o~ ||t |w|o|~|o|o|o
mg — — ~— ~— ~— — — — — — (QY)

Wi | wl | owl | ow il 0
J=2lglz |u| @ 0
= [w=] [w=] [w=] [w=] o |
Cln e (S| W g
= | S| on| 5| Su E S

ERERERED nw £

o | 3| 7| F N B

fjo| oo foj o o | fo =0 | o
_ | 10D | oD | oD | il | <] | oD . DYSIEN
Kl = o | N0 <l

R e R R O A @ | Ho
X|lo|lo|lo|o|2|o|Z | o= | <

o o T < | i

oll | ol | ol | oMl <l ofll

<|m| o _ _.r_._L —
w FIE| D | B
ot ™R e | 2R w | | = | ko
& e., uppulu = e.’ <l|3|X| a0
B | ® | W E] =
o] <o

65

www.ypc.co.kr



A A
¢ A2IH X+
> 7128
| =
YCS [FEUZE|-(AE23) [ A
BEY WROX Bt
g2 H2 G PPT) G
B H1, ‘% [’* 2-NN
] BE ] N
J 7, & o
el ———— 1 I SN
wf L & .
AT 15 15 ‘ ‘
A k|| F | N N 8.0
H S+AERS F 8.0 il f
77+ AEE23 h
ofofA 21 BASE
77+ AERST
EHLHZ| A |AT|B1|B2| D E F G H H1 H2 | K MM N NA NN P 5 Y74
@20 18 (1565 13|26 | 8 | 20 90,033 13 8 41 5 8 27 5 |M8x125| 15 24 |M20 x 15| 1/8 62 116
@25 22 (195|117 | 32 | 10 | 26 90‘033 13 8 45 6 8 33 | 55 [M10 X 1.25| 15 30 |[M26 x 15| 1/8 62 120
232 22195017 (32 12| 26 % | 13 | 8 | 45 | 6 | 8 |375| 55 |MI0x 125 15 | 345 |M26 x 15| 1/8 | 64 122
240 |24 |21 |22 |41 [ 14| 32%x | 16 | 11 | 50 | 8 | 10 |465| 7 |MI4x15|215|425| M32x2 | 1/4 | 88 154
X WEQX B % BAZE
h 0
EHLiA e f EH{E | TA EHI|AE| 72z
1~50 | 51~100 |101~150151~200|201~300 | 301~400 |401~500| 1~50 | 51~100 [101~150|151~200|201~300|301~400 | 401~500
@20 30 16 68 | 81 | 93 | 106 | 131 | 156 | — |125| 25 |375| 50 | 75 | 100 | - @20 11.5 320 116
@25 30 16 72 | 85 | 97 | 110 | 135 | 160 | 185 | 125| 25 |375| 50 | 75 | 100 | 125 @25 115 @25 120
@32 30 16 72 | 85 97 | 110 | 135 | 160 | 185 | 125 | 25 | 37.5| 50 75 | 100 | 125 @32 1.5 232 122
@40 40 18 77 | 90 | 102 | 115 | 140 | 165 | 190 | 125| 25 |375| 50 | 75 | 100 | 125 @40 16.0 @40 154

66 YPC




¢ 225 X+
> ZE(LB)
YCSLB (EEUZ|-[As23] [ A |

2-gLC
T
[ “J_N 4BE oNA T T T
< ‘Y X S+ AEZST X Y LK
T LS+ AE23 LM
77+ AEZ3F
oflojTA Hxt
_TA_
_ |
SHIlA| A |AT| B [B1[B2|D|F |G| H [HI |[H2| | K |LC|LD|LH|LS|LA|LK|LM MM N | NA NN
@20 |18 |155/40 13|26 |8 [13|8 | 41| 5 27 | 5| 4 |68]25(102(32| 40 |55 |M8x125]| 15 | 24 |M20 X 15
@25 |22 (19547 [ 17|32 [10|13| 8| 45 | 6 33 | 55| 4 | 68|28 |102|32 |40 | 55 [M10 x 1.25| 15 | 30 |M26 X 1.5
@32 |22 (19547 [ 17|32 12|13 8| 45| 6 375|55| 4 | 68|28 [104|32 | 40 | 55 |[M10 x 125 15 | 345 |M26 X 1.5
@40 |24 |21 |54 22|41 [14|16[11|50 | 8 | 10 |465| 7 | 4 | 7 |30 |134[32 |55 | 75 | Mi4 x 15| 215|425 | M32 X 2
X OfjofFM Szt
SHE| P S X Y T 7z sHE| TA
@20 1/8 | 62 20 8 21 131 @20 | 115
@25 1/8 | 62 20 8 25 135 @25 | 115
@32 1/8 | 64 20 8 25 137 @32 | 115
@40 1/4 | 88 23 10 27 171 @40 | 16.0

www.ypc.co.kr 67



P(PT)

NN

ﬁ
JRiE

|

|

|
XE—

|

@Eh8
Ju]]

[~
—Ppto g
< il L
A ]
FK AT AZE oNA_ s
M Ak N |F
T N
H stas23
@0~ @329 231—?— 77+ AER3
oo Sty HAzE
77+ AERS
EHlE| A |AT| B |B1|B2|C2| D E F FD FT | FK | FL | FM G H H1 H2 | MM
@20 18 |1565( 34 | 13 |26 [ 30| 8 2090_033 13 7 4 60 - 75 8 41 5 8 27 5 M8 X 1,25
@25 |22 (19540 |17 |32 |37 |10 2690_033 13 7 4 60 = 75 8 45 6 8 33 | 55 [M10 X 1.25
932 |22[195/ 40|17 ]32 (37 [12] 26% | 3| 7 | 4 [ 60 | - [ 75| 8 | 45| 6 375| 55 |M10 x 1.25
@40 24 | 21| 52| 22 | 41 (47.3]| 14 32?0_039 16 7 6] 66 36 82 11 50 8 10 | 465 | 7 M14 X 1.5
% oo} X% HAZE
ESA] N [ NA | AN P | s [T |z Eeuzh A EE4E] z
@20 15 24 |M20 x 15| 1/8 62 37 116 @20 115 @20 103
@25 15 30 |M26 x 15| 1/8 62 4 120 @25 1.5 @25 107
?32 15 345 |M26 X 15| 1/8 64 41 122 032 115 ?32 109
@40 215 | 425 | M32 X 2 1/4 88 45 154 @40 16.0 @40 138

68 YPC




a2 qojuzn gs-mzc YCS

¢ 2l2IE X5
> 1242H[AS(CA)
YCSCA (EEUZ |-[AE23| [ A |

G, P(PT. G,
%HW &\ —W [—_‘ @CDHI0 058
= g AL i
dd el D4 ———— 1
MM
AT 1.5
A K F N N
H St AE2S L
T+AE23 RR
77+ AERS
BN
~TA_ _TA_
~ o 3
i Al [ o I
SELHZ| A |AT|B1|CD|CX| D E F |G| H]/|H| I K| L MM N | NA NN P|RR| S |W|T 7z
@20 [ 18155/ 13| 9 [ 10| 8 | 20 % | 13| 8 | 41| 5 [ 27| 5 |30 [M8x125| 15 | 24 |[M20 x 15|1/8| 9 | 62 | 14 [133] 142
@25 |22 195/ 17| 9 [10 [ 10| 26 %o | 13 | 8 | 45| 6 |33 | 55|30 [MIOXx 125 15 | 30 [M26x 15(1/8| 9 | 62 | 14 [137| 146
@32 |22 195/ 17| 9 | 10| 12| 26 %, | 13| 8 | 45| 6 |37.5/ 55| 30 [M10 x 1.25| 15 | 345 |M26 X 1.5(1/8| 9 | 64 | 14 |139| 148
@40 |24 |21 22 10| 15| 14| 32 % | 16 | 11| 50 | 8 |465| 7 | 39 [M14 x 15| 215|425 | M32x 2 |1/4| 11 | 88 | 18 [177| 188
% 0oflo 7 M
EHAE| TA
@20 11.5
@25 11.5
232 11.5
@40 16.0

www.ypc.co.kr 69



o ARIC| FRE

> 2AZH|H|AE(CB)

YCSCB [FEUZ|-(AE23| [ A
NN G P(PT) G_ @D Hio 095
BT Mo \ ‘ ‘
= AL T
d O ——— 4.1 &l
MM —
AT 15
A K| |F | N N w
H S+ AERT
T+AEE3 RR
77+ AE23
oflof=A Bata
~TA_ —TA_,
_ Ip |
EHL{A| A |AT|B1|CD|CX|CZ E F G H H1 | K L MM N NA NN P
@20 18 [155/ 13| 9 [ 10| 19| 8 2050_033 13 8 41 5 27 5 30 [ M8 X 125 15 24 |M20 x 15| 1/8
@25 22 (195/ 17| 9 [ 10|19 ] 10 26?0.033 13 8 45 6 33 | 55 | 30 [M10 X 1.25| 15 30 | M26 X 15| 1/8
032 |22 0195/ 17| 9 [10]19|12] 26%. | 13 | 8 | 45 | 6 [375| 55 | 30 [M0x 125 15 | 345 | M6 x 15/ 1/8
040 |24 |21 22| 10]15]30 |14 ] 32% | 16 | 11 | 50 | 8 [465| 7 | 39 [Miax15]215]425| M2 x2 | 1/4
X Ol FM
EHIfA| RR S W T 77 EHIHA| TA
@20 9 62 14 133 142 @20 1.5
@25 9 62 14 137 146 @25 115
@32 9 64 14 139 148 @32 1.5
@40 11 88 18 177 188 @40 16.0

70 YPC




a2 qojuzn gs-mzc YCS

o M2IG RAE
> EZ{LI2(TA, TB)
YCSTA (B |-[AE23| [ A |

& o B2 '(—3*‘ — ﬁ M
Al = Hi_ |
5 7
IS - m |
4 T Hhelebd ————— ST
/| T |
\ 491Z oA
T® AT
™ A K ‘.I. 15
T N N F
H S+AERS
77+ AERS
e BARE
‘.E.
— e T T || [
R A — -
- i
77+ AER3F
YCSTB | EEUZ |- (AER3| [ A
_HL G _ &
CHEHAT T P(PT). ° ‘ ;
— — N ﬁ cie2 : s
logrel ball - — ) * :
—J |
/ | | \
M 15 K
A K| F | N | \AE% oNA N ™
H StAEZa 17|
T+AEZS |
77+ AER3F
oflof4d Sty
A
— ®
FEUHZE| A AT | Bi B2 D E F H H1 | K MM N NA NN B

@20 | 18 | 155| 13 | 26 | 8 | 20 %0 | 13
@25 | 22 | 195| 17 | 32 | 10 | 26 %0 | 13
@32 | 22 [195| 17 | 32 | 12 | 26 %0 | 13
@40 | 24 | 21 | 22 | 41 | 14 | 32 % | 16

41 5 27 5 M8 X 125 | 15 | 24 | M20 X 1.5 | 1/8
45 6 33 | 55 | MIOXx125| 15 | 30 | M26 x 15 | 1/8
45 6 [375| 55 | MIOX125| 15 [345| M26 X 1.5 | 1/8
50 8 |465| 7 M14 X 15 | 215 | 425 | M32 X 2 1/4

X oo R X HAZE

© | |0 (D

FEUHE| S D TT | TK | 7L | ™ T 7z EHiA| TA EHINE| 2z
@20 62 8 10 32 32 52 36 | 118 @20 | 115 @20 | 103
@25 62 9 10 40 40 60 40 | 122 @25 | 115 @25 | 107
032 64 9 10 40 40 60 40 | 124 @32 | 115 @32 | 109
@40 88 10 11 53 53 77 | 445 | 154 @40 | 160 @40 | 138

www.ypc.cokr 71



o ARIC RIAE

> SHIAUHIH(CD)

=]
YCSCD [EEUZ|-(AE23)| [ A
77+ AEE3
THAE2S
H St AEE3 L RR
A K F N N
AT G P(PT) Gl W BCD Hio 0058 o NA
H1 T ‘ X3
®\
el b -————— b0 o
it L
o NN 1.5 Lv
BN
TA TA_
- @ 2
E5LiZE| A [AT|B1[CD|CX]| D E FlG [ H[H |1 L MM N | NA NN
$20 |18 [155/ 13| 8 [ 12| 8 | 20%uw | 13 | 8 | 41 | 5 | 27 | 5 | 12 |M8x125| 15 | 24 |M20 X 15
@25 |22 (19.5)17 | 8 [ 1210 | 26%a, | 13 | 8 | 45 | 6 | 33 | 55 | 12 [MIO X 1.25| 15 | 30 | M26 X 1.5
032 |22 [19.5] 17 | 10|20 | 12 | 26%q, | 13 | 8 | 45 | 6 [375| 55 | 15 |MI0 X 1.25| 15 | 345 | M26 X 1.5
@40 |24 | 21|22 |10 |20 | 14| 32%u | 16 | 11 | 50 | 8 [465| 7 | 15 |M14 X 15215 | 425 | M32 X 2
% 0floj7 M
gog] P [PRI s [ W[ T [z]Lw EENEIRN
@20 | 1/8 | 9 | 62 | 115 | 115 | 124 | 184 @20 | 115
@25 | 1/8 | 9 | 62 | 115 | 119 | 128 | 184 925 | 115
@32 | 1/8 | 12 | 64 | 145 | 124 | 136 | 28 @32 | 115
240 1/4 12 88 145 | 153 | 165 28 240 16.0

72 YPC




YCSH YCSH
FEEH| WE |A|H MM GNDHO| NX1 |W1|R1 | T FEEH| WA [A1L[E| L MM @NDH°| NX1 | R1 | W1
YCS20-1| 20 |18 |41 |M8x 125| 9 | 9 ;| 14| 10 | 66 YCS20-1| 20 |16[20 |36 |M8x 1.25|9 ™ |9 5| 10 | 14
YCS25-1 | 2532 | 22 | 45 [M10 X 1.25| 9 *** | 9 7| 14 | 10 | 69 YCS25-1 | 25-32 | 18 | 20 | 38 [M10 x 1.25) 9 | 9 | 10 | 14
YCS40-1 | 40 |24 |50 |M14 X 15| 12:°° | 16705 | 20 |155| 92 YCSA0-I| 40 | 22|24 |55 |M14x 15| 12:%° | 16 35 [ 155| 20
24 U2 xolE B 28 HE 20S
& &
oND A
AP \ o
ML ——x OND™*
e \\ MM ‘W
NX2 o X o =y
- . g — - gy : —— -
R2 (MIN)
) At w1 Al ‘ ‘ww
L1 L1
YCS-Y YCS-Y
FEEH| HE A |H|L MM [@NDdo| NX2 |[R2 [W2| T ZFEEH | WHE |A1E1| LT MM ND H° | NX1 | NZ | R1 | W1
YCS20-Y| 20 |18 |41 |25 |M8 X 1.25|9 o0e’|9 92110 | 14|66  YCS20-Y| 20 | 16|20 |36 |M8x 125|9 2|9 24| 18 | 12 | 14
YCS25-Y| 2532 | 22 | 45 | 25 |M10 X 1.25|9 %9 5210 | 14|69  YCS25-Y|25-32| 18|20 | 38 [M10 X 1.25(9 *®*|9 12118 | 12 | 14
YCS40-Y| 40 |24 | 50 497/ M14 x 15|12 25| 16195 | 13| 25| 92 YCS40-Y| 40 |22 | 24|55 |M14 x 15|12 | 16157 | 38 | 13 | 20
2H|AE T, H4EE T(@20,25,32) A T HEE T (@340)
= oE = s J
- / - /
/
— e M | —
+ + | |
175 192 175 40 ‘ 332 ‘ 40 ‘ 463 ‘
1.15 25.0 N1.15 4.2 54.3
2C EHHE =2 EgLA HE
%“ d
o ¢ = an
- %
N :
|LH| A
A
YCS—RN YCS—-JN YCS-TN
FEEH | LHE [A|C|D MM H FEEH | LWE|A|C|D MM H FEEH | 13 |A[C|D MM H
YCS20-RN| 20 |13 |155[12.5| M8 X 1.25| 5 YCS20-IN| 20 | 26|30 (255 M20 x 15| 8 YCS20-TN| 20 | 26 | 28 {25,5| M20 x 1.5| 10
YCS25-RN| 25 -32 | 17 [19.6/16.5/M10 X 1.25| 6 YCS25-IN |25 -32| 32 | 37 |31.5| M26 x 1.5| 8 YCS25-TN| 25 -32 | 32 | 34 [31.5| M26 X 1.5 | 10
YCS40-RN| 40 |22 (254|215 M14 x 15| 8 YCSA0-IN| 40 | 41 |47.3|405| M32 x 2 | 10 YCS40-TN| 40 | 41 | 45 [405] M32 x 2 | 10
www.ypc.cokr 73



+ AZIH X|eE
> JPHSHHARIE [ MEIAZHE(ST)
YCSW [masA| | (Eeug |- (AER3 | [ F715 |- ST25 |
5 e - ST25: SHZHHL| 25mm
s A A = ST50: FZFS| 50mm
. |
15 L 30 LK_
MT | ML+ 84
MH+ I+
77+2 -+ ZFE (A125mm, B:50mm)
E5HZ | MA | Mk | MI MM MT | MH | ML | ZZ
@20 | 12| 8 | 15 |[M8x 1.25|165|32(57) | 18 | 150
@25 | 17 | 10 | 20 [m10x 125] 175 32657) | 18 | 156
@32 | 17 | 10 | 20 [M10 x 1.25| 17.5|32(57) | 18 | 158
ga0 | 22 | 12 | 25 [M1ax15]215]3368) | 22 | 198
> JIHBFARIG [ STINEFH(SR)
YCSW (a3 | (REud | -(AER3 | | 718 |- SR25
SR25: SHZFHL| 25mm
> QEX|rE - SHX{Z X{EH O
SAT BuEzES) SR50: SH™EZXFHL| 50mm
H e oL ——i
|
_ L
MH+Z AR
77+ X+ =™ (A:25mm, B:50mm)
T MM MH | 2z
@20 | M8x 125 | 20 | 136
@25 |[MI0OX 125| 20 | 140
232 [MIOX 125| 20 | 142
@40 [MI2x 175| 24 | 178
74 YPC




YCSH YCSH
FEEH| WE |A|H MM GNDHO| NX1 |W1|R1 | T FEEH| WA [A1L[E| L MM @NDH°| NX1 | R1 | W1
YCS20-1| 20 |18 |41 |M8x 125| 9 | 9 ;| 14| 10 | 66 YCS20-1| 20 |16[20 |36 |M8x 1.25|9 ™ |9 5| 10 | 14
YCS25-1 | 2532 | 22 | 45 [M10 X 1.25| 9 *** | 9 7| 14 | 10 | 69 YCS25-1 | 25-32 | 18 | 20 | 38 [M10 x 1.25) 9 | 9 | 10 | 14
YCS40-1 | 40 |24 |50 |M14 X 15| 12:°° | 16705 | 20 |155| 92 YCSA0- | 40 |22 | 24|55 |M14x 15| 12| 16 33 | 165| 20
e M HZ RRIE
& &
OND A
,/T\L \ o
ML ——x OND™*
e \\ MM ‘W
NX2 o X o =y
- . g — - gy : —— -
R2 (MIN)
) At w1 Al ‘ ‘ww
L1 L1
YCS-Y YCS-Y
FEEH| HE A |H|L MM [@NDdo| NX2 |[R2 [W2| T ZFEEH | WHE |A1E1| LT MM ND H° | NX1 | NZ | R1 | W1
YCS20-Y| 20 |18 |41 |25 |M8 X 1.25|9 o0e’|9 92110 | 14|66  YCS20-Y| 20 | 16|20 |36 |M8x 125|9 2|9 24| 18 | 12 | 14
YCS25-Y| 2532 | 22 | 45 | 25 |M10 X 1.25|9 %9 5210 | 14|69  YCS25-Y|25-32| 18|20 | 38 [M10 X 1.25(9 *®*|9 12118 | 12 | 14
YCS40-Y| 40 |24 | 50 497/ M14 x 15|12 25| 16195 | 13| 25| 92 YCS40-Y| 40 |22 | 24|55 |M14 x 15|12 | 16157 | 38 | 13 | 20
2H|AE T, H4EE T(@20,25,32) A T HEE T (@340)
% 2-03 % 203 goé
= oE = s J
- / - /
/
— e M | —
+ + | |
175 192 175 40 ‘ 332 ‘ 40 ‘ 463 ‘
1.15 25.0 N1.15 4.2 54.3
2C EHHE =2 EgLA HE
%“ d
o ¢ = an
- %
N :
|LH| A
A
YCS—RN YCS—-JN YCS-TN
FEEH | LHE [A|C|D MM H FEEH | LWE|A|C|D MM H FEEH | 13 |A[C|D MM H
YCS20-RN| 20 |13 |155[12.5| M8 X 1.25| 5 YCS20-IN| 20 | 26|30 [255|M20 x 15| 8 YCS20-TN| 20 | 26 | 28 {25,5| M20 x 1.5| 10
YCS25-RN| 25 -32 | 17 [19.6/16.5/M10 X 1.25| 6 YCS25-IN (25 -32| 32 | 37 [31.5| M26 X 15| 8 YCS25-TN| 25 -32 | 32 | 34 [31.5| M26 X 1.5 | 10
YCS40-RN| 40 |22 (254|215 M14 x 15| 8 YCSA0-IN| 40 | 41 |47.3|405| M32 x 2 | 10 YCS40-TN| 40 | 41 | 45 [405] M32 x 2 | 10
www.ypc.co.kr 75



